Min 20 x1+ 14 x2 + 15 x3 + 28 x4 + 20 x5 + 25 x6

s.t. 30 x1 + 40 x2 + 25 x3 ( 180000 (Production Hours)

15 x1 + 10 x2 + 30 x3 ( 90000 (Assembly Hours)

x1 + x4 = 2000

x2+ x5 = 2000

x3+ x6 = 2000

all xi ( 0

OPTIMAL SOLUTION

Objective Function Value  =  104666.667

Variable
Value
Reduced Costs

---------            --------                        -------------------

Xl
2000.000
0.000


X2
2000.000
0.000

X3
1333.333
0.000
X4
0.000
3.000
X5
0.000
2.667
X6
666.667
0.000

Constraint
Slack/Surplus
Dual Prices

---------            --------                        -------------------

 l
6666.667
0.000


2
0.000
0.333

3
0.000
-25.000
4
0.000
-17.333
5
0.000
-25.000
OBJECTIVE COEFFICIENT RANGES

Variable
Lower Limit
Current Value
Upper Limit

------------
---------------
-----------------
---------------

Xl
-5.000
20.000
23.000

X2
-3.333
14.000
16.667
X3
9.000
15.000
25.000

X4
25.000
28.000
No Upper Limit

X5
17.333
20.000
No Upper Limit

X6
15.000
25.000
31.000

RIGHT HAND SIDE RANGES

Constraint
Lower Limit 
Current Value 
Upper Limit

--------------- 
---------------
------------
---------------

1
173333.333
180000.000
No Upper Limit

2
  50000.000
90000.000
98000.000

3
     666.667
2000.000
2380.952
4
         0.000
2000.000
2210.526
5
   1333.333
2000.000 
No Upper Limit

